TRT-BA-TES200-TC2020-23-001-EN

ORIGINAL INSTRUCTIONS
VERTICAL HEATER

TES 200

TEC
TR Lt

DTROTEC



DTROTEC

Table of contents

Notes regarding the instructions..........ccccoenmsmnssnsesscsnssssnsens 2
SATELY ..o ——————— 2
Information about the device.........c.ccnmminissnnnnsssssnsnsnnnns 6
Transport and StOrage.......cocvmsmsmsmsssssnsmsssssssasssssssssssssassnsses 7
Assembly and installation.............coceennnnnnnnnnnnm. 8
04 1:T 21T 9
Available aCcCeSSOIIeS.......cummmmsmsmmsmmmsssssmssssssssssssssssssanns 10
Errors and faults........c.ccvcnnnnnnnnnssnnnsees 10
Maintenance ... —————— 11
Technical aNNeX.......cccuvmmmsmsmsmssmmssssmssssssss 14
DiSPOSAl ....vvucsmremsmssssesmssssnsssssssss s ————— 26
Declaration of conformity .........c.ccccormecrsscssssnsnssesessesennnns 26

Notes regarding the instructions

Symbols

/N

Warning of electrical voltage

This symbol indicates dangers to the life and health of
persons due to electrical voltage.

Warning of hot surface

This symbol indicates dangers to the life and health of
persons due to hot surface.

Warning

This signal word indicates a hazard with an average
risk level which, if not avoided, can result in serious
injury or death.

Caution

This signal word indicates a hazard with a low risk
level which, if not avoided, can result in minor or
moderate injury.

ZAN
A
A

Note

This signal word indicates important information
(e.g. material damage), but does not indicate hazards.

Info

Information marked with this symbol helps you to carry
out your tasks quickly and safely.

Follow the manual

Information marked with this symbol indicates that the
instructions must be observed.

Wear foot protection

Information marked with this symbol indicates that you
should wear safety boots.

You can download the current version of the instructions and
the EU declaration of conformity via the following link:

TES 200

https://hub.trotec.com/?id=44566

Safety

Read this manual carefully before starting or using the
device. Always store the manual in the immediate vicinity
of the device or its site of use!

Warning

Read all safety warnings and all instructions.
Failure to follow the warnings and instructions may
result in electric shock, fire and / or serious injury.
Save all warnings and instructions for future
reference.

This appliance can be used by children aged

from 8 years and above and persons with reduced
physical, sensory or mental capabilities or lack of
experience and knowledge if they have been given
supervision or instruction concerning use of the
appliance in a safe way and understand the hazards
involved.

Children shall not play with the appliance. Cleaning and
user maintenance shall not be made by children
without supervision.

Warning

Children of less than 3 years should be kept away
unless continuously supervised.

Children aged from 3 years and less than 8 years shall
only switch on/off the appliance provided that it has
been placed or installed in its intended normal
operating position and they have been given
supervision or instruction concerning use of the
appliance in a safe way and understand the hazards
involved.

Children aged from 3 years and less than 8 years shall
not plug in, regulate and clean the appliance or
perform user maintenance.

vertical heater TES 200




DITROTEC

A Warning
Do not use the device in small rooms if persons are
present who cannot leave the room independently and
who are not under constant supervision.
Do not use the device in potentially explosive rooms and
do not install it there.

Do not use the device in aggressive atmosphere.

Do not use the device in atmospheres containing oil,
sulphur, chlorine or salt.

This appliance is not a toy! Keep away from children and
animals. Do not leave the device unattended during
operation.

Only put up the device in an upright, stable position on firm
ground.

Make sure that the air inlet and outlet are not obstructed.

Make sure that the suction side is kept free of dirt and
loose objects.

Do not place the device on combustible ground.

Never insert any objects or limbs into the device and never
use it as source of ignition.

Do not cover or transport the device during operation.
Do not use the device with wet or damp hands.

Let the device dry out after a wet clean. Do not operate it
when wet or when in moist surroundings.

Do not expose the device to directly squirting water.

Check accessories and connection parts for possible
damage prior to every use of the device. Do not use any
defective devices or device parts.

Ensure that all electric cables outside of the device are
protected from damage (e.g. caused by animals). Never
use the device if electric cables or the power connection
are damaged!

The electrical connection must correspond to the
specifications in chapter Technical data.

Insert the mains plug into a properly secured mains
socket.

Observe the device's power input, cable length and
intended use when selecting extensions to the power
cable. Completely unroll extension cables. Avoid electrical
overload.

Disconnect the device from the mains, if it is not in use.

Do not remove any safety signs, stickers or labels from the
device. Keep all safety signs, stickers and labels in legible
condition.

Do not sit on the device.

When positioning the device, observe the minimum
distances from walls and other objects as well as the
storage and operating conditions specified in the Technical
data chapter.

Do not use the device in immediate proximity to curtains,
beds or sofas.

Before carrying out maintenance, care or repair work on
the device, remove the mains plug from the mains socket.
Hold onto the mains plug while doing so.

Switch the device off and disconnect the power cable from
the mains socket when the device is not in use.

Do not under any circumstances use the device if you
detect damages on the mains plug or power cable.

If the supply cord is damaged, it must be replaced by the
manufacturer, its service agent or similarly qualified
persons in order to avoid a hazard.

Defective power cables pose a serious health risk!

Only use original spare parts, for otherwise safe and
functional operation cannot be ensured.

Allow the device to cool down before transport and / or
maintenance work.

Do not use this device near bathtubs, shower trays,
swimming pools or other water containers. Risk of electric
shock!

vertical heater TES 200




DTROTEC

Intended use
Only operate the device with atmospheric air.

Only use the device for the following:
e Decontamination (thermal virus inactivation and thermal
decontamination of respiratory masks, personal protective
equipment and entire rooms)

e HEPA air purification
e Thermal pest control
e Room heating
Use the device in accordance with the technical data.

Any other use is regarded as non-intended use and may be
dangerous. The observance of these instructions are also
considered part of the intended use.

Improper use

Do not operate the device with an incorrect combination of
system components (e.g. for HEPA air purification without the
HEPA filter inserted).

Do not place any objects, e.g. clothing, on the device.
The device is not suitable for the use in explosive areas.

The device must not be used for sucking in fluids, e.g. from
filled tanks or basins.

Do not place the device on wet or flooded ground.

The device may not be exposed to moisture or weather effects
(rain, sunlight).

Any operation other than as described in this manual is
prohibited. Non-observance renders all claims for liability and
guarantee null and void.

Any unauthorised modifications, such as alterations or structural
changes to the device and changes and interventions in
software or firmware are forbidden.

Personnel qualifications

People who use this device must:
e be aware of the dangers that occur when working with
electric heaters.

e have read and understood the instructions, especially the
Safety chapter.

Maintenance tasks which require the housing to be opened
must only be carried out by specialist electrical companies or by
Trotec.

Instructed person

Instructed persons have been informed of the tasks they were
entrusted with as well as of potential hazards resulting from
inappropriate behaviour. They are allowed to operate and
transport the device and perform simple maintenance activities
(cleaning the housing, cleaning the fan).

The device is to be maintained and looked after by instructed
personnel.

Symbols on the device

Symbols |Meaning

This symbol located on the device indicates that it
is prohibited to place objects (such as towels,
clothes etc.) above or directly in front of the
device.

In order to avoid overheating and fire hazards, the
heater must not be covered.

®

This symbol located on the device indicates that it
is prohibited to spray the device.

This symbol located on the device indicates
dangers to the life and health of persons due to
hot surface.

/\

Safety signs and labels on the device

Note

Do not remove any safety signs, stickers or labels from
the device. Keep all safety signs, stickers and labels in
legible condition.

The following safety signs and labels are attached to the device:

The following label is attached to the device in German and
English and French.

Safety warnings:

VAVAN

Caution! Risk of electric shock — do not open
No parts that need to be maintained are in the inside of the
device!

The following label is attached to the device in English.

Safety warnings:

A\

Warning! Fire hazard.

Do not use in living spaces!

vertical heater TES 200




DITROTEC

The following label is attached to the device in German, English,
French and Dutch.

Safety warnings:

AN

Attention! Prior to switching the main switch off, wait for the
device to stop properly!

The following label is attached to the device in German.

Safety warnings:

/N

Switch off the main switch prior to opening the housing!

Residual risks

ﬁ Warning of electrical voltage
Work on the electrical components must only be
carried out by an authorised specialist company!

A Warning of electrical voltage
Before any work on the device, remove the mains plug
from the mains socket!
Hold onto the mains plug while pulling the power cable
out of the mains socket.

& Warning of hot surface
Some parts of this product can become very hot and
cause burns. Particular attention has to be given where
children and vulnerable people are present!

& Warning of hot surface
The room temperature may increase up to 75 °C
during operation.
Note that the surfaces in the room may be hot after the
treatment.

A Warning

The room temperature may increase up to 75 °C
during operation.

If possible, do not stay in the room during the room
heating process. If you feel unwell, exit the room
immediately. Persons sensitive to heat must only stay
in the room after the room has cooled down.

Remove objects and substances not suitable for these
temperatures from the room. Observe the
combustibility of the objects and substances in the
room.

> > P

Warning

Dangers can occur at the device when it is used by
untrained people in an unprofessional or improper way!
Observe the personnel qualifications!

Warning

The device is not a toy and does not belong in the
hands of children.

Warning

Risk of suffocation!

Do not leave the packaging lying around. Children may
use it as a dangerous toy.

Warning

Improper installation entails a risk of fire.

Do not place the device on combustible ground.
Do not place the device on high-pile carpets.

Warning

In order to avoid overheating and fire hazards, the
device must not be covered!

Note

Only operate the device using the various application
programmes and with the corresponding system
components.

Make sure that a HEPA filter is inserted for HEPA air
purification.

Note

Do not operate the device without an inserted air filter!
Without the air filter, the inside of the device will be
heavily contaminated. This could reduce the
performance and result in damage to the device.

Behaviour in the event of an emergency

1. Switch off the device at the main switch.

2. Secure the device against restart.

3. Make sure that neither you nor other persons access the
danger area.

4. Inan emergency, disconnect the device from the mains
feed-in: Hold onto the mains plug while pulling the power
cable out of the mains socket.

5. Do not reconnect a defective device to the mains.

Only take the device back into operation once the emergency
has been resolved.

vertical heater TES 200




DTROTEC

Information about the device

Device description

The device is designed to be a mobile solution for
decontamination, pest control, air purification and room heating
applications.

Each device comes equipped with the respective application
programmes which can be adjusted as needed. For example,
you can adapt the room size, the type of treatment, the duration
and the target temperature.

Variable equipment option: Depending on the application
purpose, you can combine the system components and use the
TES 200 either with the blowing-out towers DualDecon or
DualHeat.

Application purpose Combination of system

components

TES 200
DualDecon

TES 200
DualHeat

Thermal decontamination in target X
room, including air purification

Thermal decontamination in target X
room

Decontamination including air X
purification via supply air from
installation in another room

Thermal decontamination via X
supply air from installation in
another room

Pest control X
X
HEPA air purification X
Central room heating with optional X
air purification
Central room heating X
Decentralised room heating via X
existing ventilation systems or X

textile air distributors

As standard, the TES 200 DD is equipped with the DualDecon
blowing-out tower.

Functioning principle

The air is taken in by the fan via the air inlet with air filter and
will be heated by means of the multi-stage electric heating.
Optionally, the heated air can be purified with a HEPA filter.
Afterwards, the air will be evenly distributed throughout the
room via the blowing-out tower. The device can also be
connected to a ventilation system using an attachment hood on
a hose connection. If the device is operated with a ventilation
system, an external thermostat is required.

The blowing-out temperature can be set up to 95 °C maximally.
The temperature sensors at the air inlet and the air outlet
regulate the adjusted room temperature within a narrow range
as they activate or disactivate additional individual heating
elements.

vertical heater TES 200




DITROTEC

Device depiction

]

Transport and storage

Note

If you store or transport the device improperly, the
device may be damaged.

Note the information regarding transport and storage of
the device.

Transport

To make the device easier to transport, it is fitted with a
transport handle and two wheels.

Wear foot protection
Wear suitable foot protection transporting the device.
Risk of injury by twisting your ankle.
Remove all packing materials which serve to protect the
device during transport.

Should the device be damaged, please contact the
responsible dealer or manufacturer, where the purchase
was made.

Carefully tilt the device. Do not incline more than
necessary.

Carefully set the device back down again.

The device may only be lifted at the points provided with
lifting gear intended for handling. The carrying capacity of
the lifting gear must be suitable for the weight of the
electric heater (see technical data).

Storage

When the device is not being used, observe the following
storage conditions:

=
e

Designation

Blowing-out tower (DualDecon version depicted)

Connections and main switch

Wheel

Foot

Air inlet with air filter

Display and button

HEPA air filter

Transport handle

O (N oD |lwWIN|—

Cable holder

dry and protected from frost and heat

in an upright position where it is protected from dust and
direct sunlight

with a cover to protect it from invasive dust, if necessary
Before restarting the device, check the condition of the

power cable. If there are doubts as to the sound condition,
contact the customer service.

Have the device checked once a year by an electrically
skilled person at any rate.

vertical heater TES 200




DTROTEC

Assembly and installation

Scope of delivery
TES 200
e 1 xDevice
1 x DualDecon blowing-out tower
3 x flowstop shutters
1 x Manual

Assembly

Mounting the blowing-out tower and inserting the
H14 HEPA filter
1. Using a screwdriver, remove the protective caps of
the 4 screws from the top of the device.

Start-up

When positioning the device, observe the minimum distance
from walls or other objects as described in the Technical data
chapter.

Before restarting the device, check the condition of the
power cable. If there are doubts as to the sound condition,
contact the customer service.

The device may only be used in environments with no
excessive formation of dust.

Set the device up in an upright and stable position.
Position the device on even, stable and heat-insensitive
ground in a way to prevent it from tipping over.

When setting up the device, ensure a sufficient distance
for air inlet and outlet as well as for operation (see

2. Remove all 4 screws. Technical data).
3. Take off the blowing-out tower (1) from the device. e Do not create tripping hazards when laying the power
4. If required, insert a HEPA air filter. cable or other electric cables, especially when positioning
5. Place the desired blowing-out tower on the device. the device in the middle of the room. Use cable bridges.
6. Fasten the blowing-out tower by means of the screws. e Make sure that extension cables are completely unrolled.
7. Putthe protective caps back on the screws. e Make sure that no curtains or other objects interfere with
the air flow.
\ \ e Make sure that the device cannot come into contact with
\ moisture or water.
\
% % Inserting the air filter
1 §/ - Note
Do not operate the device without an air filter inserted
into the air inlet!
< L7 Without the air filter, the inside of the device will be
) heavily contaminated. This could reduce the
performance and result in damage to the device.
e Make sure that the air filter is installed before switching
the device on.
Attaching a flowstop shutter
Each of the three flowstop shutters can be attached to one of
the four insides of the tower. This prevents up to three sides of
the tower from discharging air, e.g. if discharged air is not
desired or required on the respective side(s).
Connecting the power cable
e |nsert the mains plug into a properly secured mains
socket.
| 8 | vertical heater TES 200




DITROTEC

Operation

Operating elements

thermostat

No. |Designation Meaning
10 |Fusing for safety Triggers in the event of
temperature limiter ~ |overheating
11 |Main switch For switching the device on and
off
12 |Connection for e Temperature measurement

of other rooms when
connected to a ventilation
system

e |f the thermostat is
connected, the room
thermostat inside the device
will be deactivated

13 |Operating hours
counter

Indication of operating hours

14 |Power cable
connection

Power supply of the device

15 |Touchscreen

Selection of programmes and
adjustment of parameters

16 |Start/stop key

Starting the programme

Info

The display will be switched off 3 minutes after it has
been touched. Touching it again will switch it back on.
At temperatures above 60 °C, it will be difficult to read
the display. At temperatures above 65 °C, the display
will be switched off. After the device has cooled down,
the display can be switched back on by touching it
again.

Switching the device on

[y

Warning

The room temperature may increase up to 75 °C
during operation.

If possible, do not stay in the room during the room
heating process. If you feel unwell, exit the room
immediately. Persons sensitive to heat must only stay
in the room after the room has cooled down.

Remove objects and substances not suitable for these
temperatures from the room. Observe the
combustibility of the objects and substances in the
room.

Switch the device on by turning the main switch to

position ON.

=
=
=

The device initialises.

Please wait will be indicated on the display.

Once the device has been initialised, StandBy will
appear on the display.

2. Touch the centre of the display.

=
=

> w

The main selection will appear.
The programme will intuitively guide you through the
operation process.

In the System section, set the desired language.
Select the desired programme.

5. Adjust the target values for temperature, fan speed and
duration for maintaining the temperature.

6. Start the programme by actuating the On or Start/stop (16)
button.

=
=

=

=

Heating up will be displayed.

Once the temperature has been reached, the timer for
the duration to maintain the temperature will start
running.

After the timer has been expired, the device will switch
off automatically.

The fan keeps running for approx. 3 minutes to
dissipate the residual heat from the heating elements.

The device can be restarted without any waiting time.
Switch-off

Warning of hot surface

The room temperature may increase up to 75 °C
during operation.

Note that the surfaces in the room may be hot after the
treatment.

1. Actuate the Off or Start/stop (16) button on the display.

=

The fan keeps running for approx. 3 minutes to
dissipate the residual heat from the heating elements.

2. Switch the device off by turning the main switch to
position OFF.

vertical heater TES 200




DTROTEC

Shutdown

Warning of electrical voltage

Do not touch the mains plug with wet or damp hands.
1. Proceed as described in the Switch-off section.
2. Clean the device according to the Maintenance chapter.
3. Store the device according to the Storage chapter.

Available accessories

Warning

Only use accessories and additional equipment
specified in the instructions.

Using insertion tools or accessories other than those

specified in the instructions may cause a risk of injury.

Designation Article number
DualHeat blowing-out tower

Attachment hood for hose

connection

H14 HEPA filter 7.160.000.106
Hygrostat HG 125 6.100.002.042
F7 filter cartridge 7.160.000.449

Errors and faults

The device has been checked for proper functioning several
times during production. If malfunctions occur nonetheless,
check the device according to the following list.

Your device still does not operate correctly after these
checks?

Please contact the customer service. If necessary, bring the
device to an authorized specialist electrical company or to
Trotec for repair.

The device does not start:
e (Check the power connection.

e Check the power cable and mains plug for damage.
e (Check the mains plug for damages.
e (Check the on-site fusing.

e Check whether the device is standing upright and on level
ground. The tilt protection may have been tripped owing to
the fact that the device was knocked over. Always put up
the device in an upright position on a suitable, sufficiently
dimensioned surface.

e The safety thermostat might have tripped due to
overheating Switch the device off and let it cool down for
at least 10 minutes.

e The room thermostat might be defective. Have a defective
room thermostat replaced by a specialist electrical
company.

e The overheating protection may have been tripped. Have a
specialist electrical company or Trotec check the electrics
and replace the overheating protection.

The device is loud or vibrates:

e Check whether the device is set up in a stable and upright
position.

The device gets very warm, is loud or is losing

performance:
e (Check the air inlets and air filters for dirt. Remove external
dirt.
e From the outside, check the device for dirt (See chapter
Maintenance). If the inside of the device is dirty, have it
cleaned by a specialist company or by Trotec.

vertical heater TES 200




DITROTEC

Error messages

The following error messages can be indicated on the
display (19):

Message Cause Troubleshooting

Air pressure too low

The fan does not run

Restart the device
and check the fan

Maintenance

Trotec electric heaters are designed for long hours of operation
with minimum maintenance effort. Safe operation of the device
requires all built-in components, especially the safety
temperature limiter (STB), to be checked and cleaned

after 6 months at the latest or after every 4,000 operating hours

for proper as well as all damaged components to be replaced.
functioning Prior to cleaning the interior, protect the fan and further
Filter dirty The air filter might  |Replace the filter electrical components from water ingress with appropriate
be contaminated means.
Overheating The adjusted room |Switch the device
protection room air temperature has |off and allow the
temperature been exceeded room to cool down
Overheating The device is Disconnect the
protection motor overheating device from the
mains and allow to
cool down
Sensor fault Defective Switch the device
temperature sensor |off and check the
temperature sensors
EN vertical heater TES 200




DTROTEC

Maintenance intervals

Maintenance and care interval

before every
start-up

as needed

2 weeks

at least every

at least every
4 weeks

at least every
6 months

at least
annually

Check air inlets and outlets for dirt and
foreign objects and clean if necessary

X

Clean the exterior

Visually check the inside of the device
for dirt

Check air inlet grid and air filter for dirt
and foreign objects and clean or
replace if necessary

Replace the air filter

Check for damage

Checking the safety temperature
limiter

Check attachment screws

Test run

Maintenance and care log

Device type: oo,

Device NUMDEN: ..cocvveeeeeeeeeeeeeee

Maintenance and care interval

1 2

5 6 7

8

9 | 10

1 | 12 | 13

14 | 15

16

Checking of air inlets and outlets for
dirt and foreign objects and cleaning if
necessary

Cleaning the exterior

Visual inspection of the inside of the
device for dirt

Checking of air inlet grid and air filter
for dirt and foreign objects and
cleaning or replacement if necessary

Air filter replacement

Checking for damage

Checking of attachment screws

Test run

Remarks:

1.Date; oo, 2.Date: oo
SigNature: ....ooveevveeeeecee e Signature: .....ccooveeevveee e,

3. Date: v
Signature: ...coveeeeeeecee e

4.Date: oo,
Signature: ....ccoveveveeeeieeeeecere e

5. DAt v 6. Date: .o
SIgNALUre: ..o SIgNALUre: ...voveeeeireee e

7.DAtE: v
SIgNALUIe: ..oveeeeieee e

8. DAtE: e
SIgNALUre: ..o

9.Date: ..o, 10. Date: .o
Signature: .....ooeeveveeeeeeee e, Signature: .....cccoveeve e,

11.Date: cvveeveeeeee e
Signature: .....ccoveeeeeeeecee e

12. DAte: v
Signature: .....cooveeveeeeeeeeeceee,

13.Date: oo 14.Date: .o
SIgNatUre: ....coceveveeeeeeeeeieeiens Signature: ..o

15. Date: .o
SIgNature: ....ccceeeeeeeeeceeinas

16. Date: ..o
Signature: .......ccccoevvvrsreees

vertical heater TES 200




DITROTEC

Activities required before starting maintenance

Warning of electrical voltage
Do not touch the mains plug with wet or damp hands.
e Hold onto the mains plug while pulling the power cable out
of the mains socket.

Warning of electrical voltage

Maintenance tasks and repair work may only be
performed by qualified electricians or Trotec.

Cleaning the housing

Clean the housing with a soft, damp and lint-free cloth. Ensure
that no moisture enters the housing. Protect electrical
components from moisture. Do not use any aggressive cleaning
agents such as cleaning sprays, solvents, alcohol-based or
abrasive cleaners to dampen the cloth.

Wipe the housing dry after cleaning.

Visual inspection of the inside of the device for dirt
1. Remove the air filter.
2. Use atorch to illuminate the openings of the device.
3. Check the inside of the device for dirt.
4. If you see a thick layer of dust, have the inside of the
device cleaned by a specialist company or by Trotec.
5. Put the air filter back in.

_
3

i .

\
—

'QQ

Changing the filter

The filter change intervals depend on the degree of air pollution
and the filter quality. Dirty filters impair the performance ability
of the electric heater. If the filter is contaminated to a certain
degree, a warning will be indicated on the display and a new
filter has to be inserted.
1. To do so, remove the air inlet with air filter (5) by folding
the holder out towards the front.

2. Remove the filter from the holder.
3. Insert the new air filter into the device.

Checking the safety temperature limiter

If the safety temperature limiter (10) has triggered, allow the
device to cool down. Then twist off the protective cap and press
the fusing into the device until it locks into place.

B

10

A

‘5

y

N

q
@

AR

=N
=]

vertical heater TES 200




DTROTEC

Technical annex

Technical data

Parameter Value

Model TES 200

Heating capacity 18 kW (optionally up to 27 kW)

Nominal current 31A

Fusing 32A

Air flow rate steplessly adjustable up to 2,500 m?/
h (without HEPA)

Outlet temperature adjustable up to max. 95 °C

Room / surface target |adjustable up to 75 °C

temperature

Automatic control integrated application programmes for

system thermal disinfection, HEPA air

purification, thermal pest control and
room heating

Treatment cycle adjustable from 30 to 300 min
Thermostat / sensor 7-pin DIN socket
connection

Prefilter for air filter F7

Sound pressure level of |57 / 72 dB(A)
blower level 1/2

Electrical connection  |CEE 32 A

Input voltage 3 x380t0 480V, 50/60 Hz
Type of protection P44

Dimensions (length x {690 x 610 x 1300 mm
width x height)

Minimum distance to all |30 cm
sides during operation
Weight 84 kg
Version equipped with

DualDecon blowing-
out tower

Flap structure 360° omnidirectional

2 vertical heater TES 200




DITROTEC

Circuit diagram

[ _

ON hm“_wE inoy uni

D
ezl@ufissqalleg

ON
ON
5}

TPt

AOL

no
“L<avon ano
010 A0L-0

e

S zmsa

Az+ N0 |LdE-

(3d + 9) "uid-7 sjews} J0}o8UUOD

Je}soibAH 110}08UU0D
1e1S0JBAH :ssnjyosuy

cde

L&

vals

Jaywiainyesadway
JazuaiBaqunjesadwa |
— — — — 8

7
7
7
g v\ | s |
, — =]
,u%_ Y1 7
7
7

0.0L1 d1S

<
TS

1
SY ¥

NEG-HM / ¥8-SM

R

Ng / d¥g

“rozmsa
TL&

na/ng

4

10BJUOD YOYIMS / PEIUONIEUOS L -
AOL"0 HI % -

AOLOL -

ano -
2AAYZ -
1OBJUOD YOMS / PEIUOHIBYOS H'l % -

ad/ 1

AT+ X3

(3d +9) 'lod-2 esyong

= —aNnomswon~

ADHM / 49-SM

3d
€1
21

[

11

- |
€1
[l

11

yoyms doys Aousbiaway-ul
J19)[eyossnejoN/-jdneq

Lo¢-

Bw

vertical heater TES 200




DTROTEC

~ano [ >
MOSYXLXE MOSPXZXE
Zueg | Juegd
Jajeay Jejeay
€2 44 Vel Bunziey 2\ €7 [ Vel BunzieHq
23 L3y
€l L (a3 €l 43 (a3
ST
Vot 1
VO <7
MwnﬂmNI
VO STy
VO Sy
vos 1’17 bzH
7l [ €l [ ZL [ L [ o [ 6 [ 8 [ . [ 9 [ S

vertical heater TES 200




DITROTEC

L < emeg L
N.n “lonay-L
Tl
) €
mm1§>>n_#
Nm1>o§..r
“legisT
CLSnT
)<
N.Nl_oi.
N,N e
(2R e
R — N N
> >
> 2| »| 2 Ble B8
uw,mm.mw_\mmumWﬂ.wm Q g[R[2
AN NININININANININENNY
>P>>r2arRBOSSORRRR Ot
=3539%"®M=°pp00D 8828
T3 PX e =]
"+ F T
YwozZ-7IA0L-0 OPAYZ VUw0zZ-7IA0L-0 Xewye'p 80inos
u| Bojeuy u| leybiq nQ Bojeuy  InQ Jojsisuel |
zobpuped Lebpuped yono.
d02rd-vo04d
o3al
dojg/peis
Ll oul ® \-3
adfL-y > SdALN_ > . 1SS
a-vVSyLN-VI1d 03al
19MOod
0oolld 00lL1d OaAre
INANMANIEENININ SO
ou - +  OU - + ad - + LNG-
HEEEEEE Al
Q| | > @ &) > 7
¢ < g Bresuy 7
¢ LS s resuy 7
¢l < g semeny 7
Tl
+dws [seasny 7
S N A
e
Tl
)€
CLNer

[ [ €l [ [ [ Ll [ oL [ 6 [ 8 [ L [ 9 [ S [ 2 [ € [ [4

vertical heater TES 200




vertical heater TES 200

ARl
AR T
ramn - Sl 84
e Y
Al iaidnd
TR Y
24 113 e €LL 113 34 113
eLL €L _‘\ oL €L 2L [4¥3
L ol 7 - _ i _ Wi _ Wi
2 vz 2 vl zL vl 24 vz ) i B —
j FEERE]
N e 5 [ m.\wT&x.‘mu.ﬂHi
| Zeo 0co eeopx T
. 1z e 02 gz o erea
¢ I P A i = A
[T 7
© f
N”\y A_2>>.u A0 o 7
L <ma 7 7
o f
o
5 IN9- 7 YS AVvC
7 A +|  ZH09/0S
O — DVAOOY
| | ~
° 7 ! 119-
3d 21 [al
7 lenor
Ly ex- LeTex veEex
vz ex-
1L exe 7L yex-
vee asny VOl asny
vee Buniayols V0l Bunisyoig
R ¥R B-g v
149- ¢49-
O DM 20 S
3 o€ [CS T e
€2 0z [0S e
€l ol 7L i
vl [ €l [ [ [ L [ oL [ 6 [ 8 [ L [ 9 [ S [ 2 [ € [ [ [ L

U
LW
-
0
1t
-




U
11
-
0
1t
-

“dwe  sejgsny
29 T 9 T 69 T vas-
o o o
24 24 [24 00L1d
e M ove v g9
S S S El
dwa) Bnesuy
0. €8s
v'Th TOX- ERCS 7
7 00LLd —
2 2 - ]
v v oy gL FNL ol o r O zl Oox. W 11 Jox- Eswhu:mwévn,w
RS o [ ZU 0z €2 2e 9K , 120z Oox o 3
W W v 0t O TE 7% Oox- , 1°€ O~ 7€ 2o~ asﬁwm_ﬂéiwm
® = 0V €Y Ty oX- h Ly oX- vy 79X~ IHeLSEAsTY
00z ot 0z Jox- ! Tz Jox- el e
& 06l €61 C6L _9X- i 1’61 ~9X- _o>¥_<.._.H.:.m L
‘9L ~OX- 09l vl ~oX- , o1 ox- iR
o O OO T >
0vL £Vl Tyl X" I 791 Qox- LI
0 OO0, 0 -
o 06~ €S~ 'S T9X- | 1'G “ox- >o::.73m
v'SL UoX- 0L “¢'GL Z9X- ! 161 ox- BIST> S
0 OO0 g >
o 09 €9~ ¥9 ~9X- | 19 ~ox- AT e a
. — OO0 T >
eLLToX o 0ZL €L VLl Z9X- , 171 Oox- FRI> "
N O OO 0 >
z'8L JOX- 08l €8l 78l “9X" 1 181 Qo L
| 0500, - >
0L-TLY ¥L o oX G EEigidd
e T R S Rl ||
101 9% G
i rg o M e
} L4
ed000¢ | €0) Zox- S.otxmli.m
AOL-0 I €7 2ox- >ONEme ) o)
eisjuss T 50 mErEE> e
7 0z Pox- Merzeas v e
Josuasyonig , 551 o Fas > e
L 43
BECS 18IS (.
¢ ed0ST €8.- L gmx W
2 ‘maqnie4 TS 3d8IS
zdL-
T TS v =
L 4
ATCS ZaNOW
¢ £doe ; —tlE
ﬁu! ‘WIS ISP ¥'6L T9X- 'S JoX- >9c73.m q
518 7’8 “9X- o>
29 Jox- o> e
78 ox- S_Oo‘vfm
€l L 42
Z0L 9X- aNow ™ |
721 Q9% wma o> M0
zr Oox- g
21 5% 11 o >owmw v
1'6 9% 26 “9X- v'6 “9X- o.mw@x. €6 DX N 4
0'8 ~9X-
[ [ €l [ [ [ Ll [ 0l 6 [ 8 [ L S [ 2 [ € [ [4

vertical heater TES 200




DTROTEC

Overview and lists of spare parts

Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

No. (Spare part No. (Spare part

1 Hexagon nut (DIN 934 — M 5) 8 Fan

2 Detent-edged washer (SKK5, 05.3x010x1.25) 9 Controls

3 Hexagon screw (with shaft, DIN 931 — M 10 x 230) 10  |Top housing

4 Cylinder head screw (DIN 912 — M 4 x 6) 11 |Air flap cover

5 Protective cap 12 |Filter case

6 Air filter 13  |Filter case

7 Bottom housing
EN vertical heater TES 200 | EN |




DITROTEC

Top housing Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

No. (Spare part No. (Spare part

1 Allen screw (Liko DIN 7380 — M 4 x 10, black) 12 |Sealing tape (w/h=19/2 mm, 1=1830 mm)
Cylinder head screw (DIN 912 —M 5 x 10) 13 |Spacer sleeve
Countersunk serrated lock washer (DIN 6798 — A 14  |Detent-edged washer (SKK5, 05.3x010x1.25)
05.3)

4 Washer (DIN 125 — A 06.4) 15 |Sealing plug

5 Slotted pan head screw (with shoulder, DIN 923 M6 x |16  |Housing
5VZ)

6 Allen screw (DIN 933 -M 5 x 16 VA) 17 |Front panel

7 Washer (DIN 125 — A 05.3) 18  |Electrical system

8 Hexagon nut (DIN 934 — M 5) 19  |Finger protection

9 M5 bottom star knob 20  |Heating

10 M5 yellow star knob cap 21 Handle (stainless steel)

11 Finger protection

EN vertical heater TES 200 Il




DTROTEC

Bottom housing Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

No. (Spare part No. (Spare part

1 Filter box 11 Plain bearing

2 Housing support 12 |Starlock washer (#20)

3 Bottom housing (stainless steel) 13 |Saddle feet

4 Support plate 14 |Closure plug

5 Axle 15  |Gasket strip

6 Protective bar 16  |Finned plug

7 Cover for maintenance work 17 |Sealing tape (w/h=19/2 mm, I=1500 mm)
8 Cylinder head screw (DIN 912 — M 5 x 40) 18  |Sealing tape (w/h=19/2 mm, 1=423 mm)
9 Hexagon screw (DIN 933 — M 10 x 25) 19  |Allen screw (M6 x 8)

10  |Wheel 20  [Sealing tape (w/h=19/2 mm, I=1400 mm)

EN vertical heater TES 200 | EN |




DITROTEC

Operating element

Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

No. |Spare part No. |Spare part
1 Controls 8 Hexagon nut (DIN 934 — M 5)
2 Connection socket 9 Washer (DIN 125 — A 5.3)
3 Temperature limiter 10  |Countersunk serrated lock washer
(DIN 6798 — A 05.3)
4 Protective cap 11 Cable gland (M40x1.5 UL black)
5 Countersunk screw (Allen, DIN 7991 M4 x 21) 12 |Nut (M40x1.5 UL black)
6 Hexagon nut (self-locking, DIN 985 — M4) 13 |Operating hours counter
7 Cylinder head screw (DIN 912 — M 3 x 8)
EN vertical heater TES 200 EN




DTROTEC

Electrical system Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

60@@9900@/@@0@6
=
=

No. |Spare part No. |Spare part

1 Carrier for electrics 11 Cylinder head screw (DIN 912 — M 4 x 8)

2 DIN rail (length=300 mm) 12 |Control

3 DIN rail (length=175 mm) 13 |Cable bushing

4 Nut (DIN 934 — M 4) 14 |Lock nut (M16 x1.5, metal)

5 Pipe 15  |Switch

6 Operating panel 16 |Sealing plug (925.5x019x@12.5x1.5xL8 mm)
7 Spacer sleeve (M4x45-SW7-1G) 17  |Sealing plug (#30x025.5x020.5x1.5xL8 mm)
8 Spacer sleeve (M4-25-SW7-1G-AG) 18  |Feed-through (017.5x012x010x2xL6.8)

9 Cylinder head screw (DIN 912 —M 5 x 6) 19  |Feed-through (014x09.5x@8x1.5xL8 mm)

10  |Cylinder head screw (DIN 912 - M 4 x 10)

EN vertical heater TES 200 | EN |




DITROTEC

Filter box

No. |Spare part
1 Filter box

2 Seal

Note: The position numbers of the spare parts differ from those
describing the positions of the components mentioned in these
instructions.

A(l:2)




DTROTEC

Disposal

== The icon with the crossed-out waste bin on waste
electrical or electronic equipment stipulates that this equipment
must not be disposed of with the household waste at the end of
its life. You will find collection points for free return of waste
electrical and electronic equipment in your vicinity. The
addresses can be obtained from your municipality or local
administration. For further return options provided by us please
refer to our website https://de.trotec.com/shop/.

The separate collection of waste electrical and electronic
equipment aims to enable the re-use, recycling and other forms
of recovery of waste equipment as well as to prevent negative
effects for the environment and human health caused by the
disposal of hazardous substances potentially contained in the
equipment.

Declaration of conformity

The text below sets out the contents of the declaration of
conformity. The signed declaration of conformity can be found
at https://hub.trotec.com/?id=44566.

Declaration of conformity
in accordance with the EC Machinery Directive 2006/42/EC, Annex Il, Part 1,
Section A

Herewith, we — Trotec GmbH- declare that the machinery
designated below was developed, constructed and produced in
compliance with the requirements of the EC Machinery
Directive in the version 2006/42/EC.

Product model / Product: TES 200

vertical heater
2020

Product type:
Year of manufacture as of:
Relevant EU directives:
e 2011/65/EU: 1 July 2011
e 2014/30/EU: 29 March 2014

Applied harmonised standards:
e ENISO 12100:2010

e ENISO 13849-1:2015

e ENISO 13857:2008

e EN55011:2009

e EN60204-1:2018

e EN60335-1:2012+AC:2014+A13:2017

e EN 60335-2-30:2009+Cor.:2010+A11:2012
e EN61000-6-1:2007

e EN61000-6-3:2007+A11:2011+AC:2012

Applied national standards and technical specifications:
e ENISO 14118:2018

Manufacturer and name of the authorised representative of
the technical documentation:

Trotec GmbH

Grebbener StraBe 7, D-52525 Heinsberg
Phone: +49 2452 962-400

E-mail: info@trotec.de

Place and date of issue:
Heinsberg, 06.05.2020

Detlef von der Lieck, Managing Director

vertical heater TES 200



https://de.trotec.com/shop/




	 Table of contents
	1 Notes regarding the instructions
	1.1 Symbols

	2 Safety
	2.1 Intended use
	2.2 Improper use
	2.3 Personnel qualifications
	2.4 Symbols on the device
	2.5 Safety signs and labels on the device
	2.6 Residual risks
	2.7 Behaviour in the event of an emergency

	3 Information about the device
	3.1 Device description
	3.2 Device depiction

	4 Transport and storage
	4.1 Transport
	4.2 Storage

	5 Assembly and installation
	5.1 Scope of delivery
	5.2 Assembly
	5.3 Start-up

	6 Operation
	7 Available accessories
	8 Errors and faults
	9 Maintenance
	9.1 Maintenance intervals
	9.2 Maintenance and care log
	9.3 Activities required before starting maintenance
	9.4 Cleaning the housing
	9.5 Visual inspection of the inside of the device for dirt
	9.6 Changing the filter
	9.7 Checking the safety temperature limiter

	10 Technical annex
	10.1 Technical data

	11 Disposal
	12 Declaration of conformity

